Name: Date:

A.1.1 Simultaneous Equations:Substitution Method

Solve each system of equations using substitution method.

1) 5x+2y=16 2) c+6d=7
xX+8y=26 -c-2d=-2
3) 8p+7g=43 4) -5a+b=8
2p-7=-q 7a +9b=-32
5) =5=2m+6n 6) v=2-6u
4m+5n-18=0 Qu+2v=3
7) r+2s=4 8) 6y+5z=0
35s+r=1 3z=7y+53
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Name: Date:

A.1.2 Simultaneous Equations:Substitution Method

Solve each system of equations using substitution method.

1) 4u+5v=28 2) 6p+7g=-17
2v+9u =63 5p+8g+38=0

3) 12=3m+4n 4) -r-s=5
4”—2:—}?1 —5=2.‘5‘—r

5) 8c=5-3d 6) a=4+0b
3c=8-2d 5a-b=0

7) 5x+y-8=0 8) 85+3r=18
-3y+7x+2=0 S+i=1
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Name: Date:

A.1.3 Simultaneous Equations:Substitution Method

Solve each system of equations using substitution method.

1) 9p+8g=>58 2) 2a+7bh=13
-p +5¢ =23 8b=2-a

3) 10=5c+3d 4) -u+5v+7=0
9=2d+4c U+ 8v=-32

5) 3r=1-s 6) 4m+n=2
7s=4-6r 9n+m=18

7) 7y+50=4z 8 -x-y=3
8y+5z-29=0 2=3x-y
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Answers

A.1.1 Simultaneous Equations:Substitution Method

Solve each system of equations using substitution method.

1) 5x+2y=16 2) c+6d=7
X+8y=26 -c-2d=-2
43

(2, 3) 2 4

3) 8p+7¢=43 4) -5a+b=8
2p-7=-q 7a+9b=-32
{1:5} {-2r—2}

5) -5=2m+6n 6) v=2-6u
4m+5n-18=0 9u+2v=3

7) r+2s=4 8) 6y+5z=0
3s+r=1 3z=7y+53
(10,-3) (-5, 6)
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Answers

A.1.2 Simultaneous Equations:Substitution Method

Solve each system of equations using substitution method.

1) 4u+5v=28 2) 6p+7g=-17
2v+9u =63 5p+8g+38=0
(7, 0) (10,-11)
3) 12=3m+4n 4) -r-s5=5
4n-2=-m -5=25-r

(53 -3

& 3 3
5) 8c=5-3d 6) a=4+b
3c=8-2d S5a-b=0

[‘2: ?} {_1r —5}

7) 5x+y-8=0 8) 85+3r=18
-3y+7x+2=0 s+1=1

(1, 3) (3,-2)
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Answers

A.1.3 Simultaneous Equations:Substitution Method

Solve each system of equations using substitution method.

1) 9p+8g=58
-pP+5¢ =23

(2, 5)

3) 10=5c¢+3d
9=2d +4c

53

5 3r=1-s
7s=4-6r

7) 7y+50=4z
8y+5z-29=0

(-2,9)
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2)

4)

6)

8)

2a+7h=13
8h=2-a

{1ﬁ: _1]

-u+5v+7=0
u+8v=-32

{_ar —3}

dm+n=2
9n+m=18

(0, 2)




